Differential Equation of p-k Mittag-Leffler Function

Kuldeep Singh Gehlot

Communicated by Jose Luis Lopez-Bonilla

MSC 2010 Classifications: 33B15, 33C20, 33E12, 34B30.

Keywords and phrases: p-k Mittag-Leffler function, p-k Gamma function, p-k Pochhammer symbol.

Abstract In this paper we introduce a homogeneous linear differential equation whose one of the solution is the p-k Mittag-Leffler function and deduce this differential equation for earlier defined different Mittag-Leffler functions.

1 Introduction

The different Mittag-Leffler function has been given by different authors in last century. The Mittag-Leffler function $E_{\alpha}(z)$ introduced by Gosta Mittag-Leffler [5] in 1903, defined as

$$E_{\alpha}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}.$$
(1.1)

Here $z \in C, \alpha \ge 0$.

Wiman [3] generalized $E_{\alpha}(z)$ in 1905 and gave $E_{\alpha,\beta}(z)$ known as Wiman function, defined as

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}.$$
(1.2)

Here $z, \alpha, \beta \in C$; $Re(\alpha) > 0, Re(\beta) > 0$.

Prabhakar [12] in 1971, gave next generalization of Mittag-Leffler function and denoted as $E^{\gamma}_{\alpha,\beta}(z)$ and defined as

$$E_{\alpha,\beta}^{\gamma}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}.$$
(1.3)

Here $z, \alpha, \beta, \gamma \in C$; $Re(\alpha) > 0$, $Re(\beta) > 0$, $Re(\gamma) > 0$.

Shukla and Prajapati [2] in 2007, gave second generalization of Mittag-Leffler function and denoted it as $E_{\alpha,\beta}^{\gamma,q}(z)$ and defined as,

$$E_{\alpha,\beta}^{\gamma,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{nq}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}.$$
(1.4)

Here $z, \alpha, \beta, \gamma \in C$; $Re(\alpha) > 0$, $Re(\beta) > 0$, $Re(\gamma) > 0$ and $q \in (0, 1) \cup N$. The function $E_{\alpha,\beta}^{\gamma,q}(z)$ converges absolutely for all z if $q < Re(\alpha) + 1$ and for |z| < 1 if $q = Re(\alpha) + 1$. It is entire function of order $\frac{1}{Re(\alpha)}$.

K.S.Gehlot [7], introduce Generalized k-Mittag-Leffler function in 2012, denoted as $GE_{k,\alpha,\beta}^{\gamma,q}(z)$ and defined for $k \in R^+$; $z, \alpha, \beta, \gamma \in C$; $Re(\alpha) > 0, Re(\beta) > 0, Re(\gamma) > 0$ and $q \in (0, 1) \cup N$, as,

$$GE_{k,\alpha,\beta}^{\gamma,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{nq,k} \, z^n}{\Gamma_k (n\alpha + \beta)(n!)},\tag{1.5}$$

where $(\gamma)_{nq,k}$ is the k- pochhammer symbol and $\Gamma_k(x)$ is the k-gamma function given by [11]. The generalized Pochhammer symbol is given as,

$$(\gamma)_{nq} = \frac{\Gamma(\gamma + nq)}{\Gamma(\gamma)} = q^{qn} \prod_{r=1}^{q} (\frac{\gamma + r - 1}{q})_n, \text{ if } q \in N.$$

$$(1.6)$$

Recentely K.S.Gehlot [9] in the year 2018, introduce p-k Mittag-Leffler function, Let $k, p \in R^+ - \{0\}; \alpha, \beta, \gamma \in C/kZ^-; Re(\alpha) > 0, Re(\beta) > 0, Re(\gamma) > 0$ and $q \in (0, 1) \cup N$. The p - k Mittag-Leffler function denoted by ${}_{p}E_{k,\alpha,\beta}^{\gamma,q}(z)$ and defined as

$${}_{p}E^{\gamma,q}_{k,\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{{}_{p}(\gamma)_{nq,k}}{{}_{p}\Gamma_{k}(n\alpha+\beta)} \frac{z^{n}}{n!}.$$
(1.7)

Where $p(\gamma)_{nq,k}$ is two parameter Pochhammer symbol and $p\Gamma_k(x)$ is the two parameter Gamma function given by [8].

The two parameter pochhammer symbol is recently introduce by ([8], equation (2.1)), the p - k Pochhammer Symbol $_{p}(x)_{n,k}$ is given by,

$${}_{p}(x)_{n,k} = \left(\frac{xp}{k}\right)\left(\frac{xp}{k} + p\right)\left(\frac{xp}{k} + 2p\right)....\left(\frac{xp}{k} + (n-1)p\right).$$
(1.8)

Where $x \in C$; $k, p \in R^+ - \{0\}$ and $Re(x) > 0, n \in N$.

Two Parameter Gamma Function is given by ([8], equation (2.6), (2.7) and (2.14)), the p - k Gamma Function ${}_{p}\Gamma_{k}(x)$ is given by,

$${}_{p}\Gamma_{k}(x) = \frac{1}{k} \lim_{n \to \infty} \frac{n! p^{n+1}(np)^{\frac{x}{k}}}{p(x)_{n+1,k}}.$$
(1.9)

or

$${}_{p}\Gamma_{k}(x) = \frac{1}{k} \lim_{n \to \infty} \frac{n! p^{n+1} (np)^{\frac{x}{k}-1}}{p(x)_{n,k}}.$$
(1.10)

Where $x \in C/kZ^-$; $k, p \in R^+ - \{0\}$ and $Re(x) > 0, n \in N$. The integral representation of p - k Gamma Function is given by

$${}_{p}\Gamma_{k}(x) = \int_{0}^{\infty} e^{-\frac{t^{k}}{p}} t^{x-1} dt, \ (k, p \in R^{+} - \{0\}; Re(x) > 0).$$
(1.11)

The Generalized Hypergeometric function representation of ${}_{p}E_{k,\alpha,\beta}^{\gamma,q}(z)$ for $\alpha = km, m \in N$ and $q \in N$, is given by ([10], equation 2.1),

$${}_{p}E_{k,km,\beta}^{\gamma,q}(z) = B\sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_{i})_{n}}{\prod_{j=1}^{m} (b_{j})_{n} (n!)} (Az)^{n}.$$
(1.12)

$${}_{p}E^{\gamma,q}_{k,km,\beta}(z) = B {}_{q}F_{m}[(a_{i})_{i=1,2,\dots,q}; (b_{j})_{j=1,2,\dots,m}; Az].$$
(1.13)

Where,

$$A = \frac{zp^{q}q^{q}}{p^{m}m^{m}}, \ B = \frac{kp^{-\frac{\beta}{k}}}{\Gamma(\frac{\beta}{k})}, \ a_{i} = (\frac{\frac{\gamma}{k} + i - 1}{q}) \ and \ b_{j} = (\frac{\frac{\beta}{k} + j - 1}{m}).$$
(1.14)

Convergent criteria for Generalized Hypergeometic function,

(i) If $q \leq m$, the function ${}_{q}F_{m}(.)$ converge for all finite z.

(ii) If q > m + 1, the function ${}_{q}F_{m}(.)$ converge for all |z| < 1 and diverge for |z| > 1. (iii) If $q \le m$, the function ${}_{q}F_{m}(.)$ diverge for $z \ne 0$.

(iv) If q = m + 1, the function ${}_{q}F_{m}(.)$ absolutely convergent on the circle |z| = 1if $Re(\sum_{j=1}^{m} \frac{\frac{\beta}{k} + j - 1}{m} - \sum_{i=1}^{q} \frac{\frac{\gamma}{k} + i - 1}{q}) > 0$

2 Main result

In this section we introduce a linear homogeneous differential equation known as p-k Mittag-Leffler differential equation. One of its solution is p-k Mittag-Leffler function [9]. Finally we deduce this differential equation whose one of the solution is earlier known different Mittag-Leffler functions.

Theorem 2.1. The p-k Mittag-Leffler differential equation is defined as,

$$\left[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az \prod_{i=1}^{q} (\theta + a_i)\right] W = 0, q \le m + 1.$$
(2.1)

When no b_j is a negative integer or zero and no two b_j 's differ by an integer or zero, then the solution is

$$W = \sum_{r=0}^{m} C_r W_r.$$
 (2.2)

Where C_r is arbitrary constant, and

$$W_0 = {}_p E^{\gamma,q}_{k,km,\beta}(z). \tag{2.3}$$

and for r = 1, 2, 3, ..., m.

$$W_r = \sum_{n=0}^{\infty} \frac{\prod_{i=1}^q (a_i - b_r + 1)_n}{\prod_{j=1}^m (b_j - b_r + 1)_n (2 - b_r)_n} (Az)^{n+1-b_r}.$$
(2.4)

Where $\theta = z \frac{d}{dz}$ and a_i, b_j and A are given by (1.14).

Proof. Whenever, in addition to the above restrictions, no b_j is a positive integer, then the linear combination (2.2) is the general solution of equation (2.1) around z = 0. Note also that if $q \le m$, then the series for W_r ; r = 0, 1, 2, ..., m, converge for all finite z and that for q = m + 1, the series for W_r converge for |z| < 1.

First we will verify that W_0 , satisfies equation (2.1). Since $\theta(Az)^n = n(Az)^n$ and using (1.12), it follows that

$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_0 = B \sum_{n=0}^{\infty} \frac{n \prod_{j=1}^{m} (n + b_j - 1) \prod_{i=1}^{q} (a_i)_n}{\prod_{j=1}^{m} (b_j)_n (n!)} (Az)^n,$$
$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_0 = B \sum_{n=1}^{\infty} \frac{\prod_{i=1}^{q} (a_i)_n}{\prod_{j=1}^{m} (b_j)_{n-1} (n-1)!} (Az)^n,$$

now we replace n by n + 1, we have

$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_0 = B \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_i)_{n+1}}{\prod_{j=1}^{m} (b_j)_n (n)!} (Az)^{n+1},$$

$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_0 = B \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_i)_n \prod_{i=1}^{q} (n+a_i)}{\prod_{j=1}^{m} (b_j)_n (n)!} (Az)^{n+1},$$

$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_0 = Az \prod_{i=1}^{q} (\theta + a_i) W_0,$$

Thus we have shown that $W_0 = {}_p E_{k,km,\beta}^{\gamma,q}(z)$ is a solution of the differential equation (2.1). Now we will verify that $W_r, r = 1, 2, ..., m$, satisfies equation (2.1). From (2.4), we get immediately

$$\theta \prod_{j=1}^{m} (\theta+b_j-1)W_r = \sum_{n=0}^{\infty} \frac{(n+1-b_r) \prod_{j=1}^{m} (n+1-b_r+b_j-1) \prod_{i=1}^{q} (a_i-b_r+1)_n}{\prod_{j=1}^{m} (b_j-b_r+1)_n (2-b_r)_n} (Az)^{n+1-b_r}$$

$$\theta \prod_{j=1}^{m} (\theta + b_j - 1) W_r = \sum_{n=1}^{\infty} \frac{\prod_{i=1}^{q} (a_i - b_r + 1)_n}{\prod_{j=1}^{m} (b_j - b_r + 1)_{n-1} (2 - b_r)_{n-1}} (Az)^{n+1-b_r},$$

now we replace n by n + 1, we have

$$\begin{aligned} \theta \prod_{j=1}^{m} (\theta + b_j - 1) W_r &= Az \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_i - b_r + 1)_{n+1}}{\prod_{j=1}^{m} (b_j - b_r + 1)_n (2 - b_r)_n} (Az)^{n+1-b_r}, \\ \theta \prod_{j=1}^{m} (\theta + b_j - 1) W_r &= Az \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_i - b_r + 1)_n \prod_{i=1}^{q} (a_i - b_r + 1 + n)}{\prod_{j=1}^{m} (b_j - b_r + 1)_n (2 - b_r)_n} (Az)^{n+1-b_r}, \\ \theta \prod_{j=1}^{m} (\theta + b_j - 1) W_r &= Az \sum_{n=0}^{\infty} \frac{\prod_{i=1}^{q} (a_i - b_r + 1)_n \prod_{i=1}^{q} (\theta + a_i)}{\prod_{j=1}^{m} (b_j - b_r + 1)_n (2 - b_r)_n} (Az)^{n+1-b_r}, \\ \theta \prod_{j=1}^{m} (\theta + b_j - 1) W_r &= Az \prod_{i=1}^{\infty} (\theta + a_i) W_r. \end{aligned}$$

Thus we have shown that, W_r , r = 1, 2, ..., m is the solutions of the differential equation (2.1).

Particular Cases: For some particular values of the parameters p, q, k, α, β and γ , we can obtain certain differential equations for different Mittag-Leffler functions, here we have chosen $\alpha = km; m, q \in N \text{ and } p, k \in R.$

[A] Put p = k in (2.1), we have the differential equation.

$$\left[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az \prod_{i=1}^{q} (\theta + a_i)\right] W = 0, q \le m + 1.$$
(2.5)

Here $a_i = \left(\frac{\frac{\gamma}{k}+i-1}{q}\right), b_j = \left(\frac{\frac{\beta}{k}+j-1}{m}\right)$ and $A = \frac{q^q k^q}{m^m k^m}, \ B = \frac{k^{1-\frac{\beta}{k}}}{\Gamma(\frac{\beta}{k})}.$

Equation (2.5), is the differential equation of Mittag-Leffler function $W_0 = GE_{k,km,\beta}^{\gamma,q}(z)$, defined by [7] and it is known result of ([6], equation (10)). **[B]** Put p = k, q = 1 in (2.1), we have the differential equation.

$$[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az(\theta + a_1)]W = 0.$$
(2.6)

Here $a_1 = \frac{\gamma}{k}, b_j = \left(\frac{\frac{\beta}{k}+j-1}{m}\right)$ and $A = \frac{k^{1-m}}{m^m}, B = \frac{k^{1-\frac{\beta}{k}}}{\Gamma(\frac{\beta}{k})}.$

Equation (2.6), is the differential equation of K-Mittag-Leffler function $W_0 = E_{k,km,\beta}^{\gamma}(z)$, defined by [4].

[C] Put p = k = 1 in (2.1), we have the differential equation.

$$\left[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az \prod_{i=1}^{q} (\theta + a_i)\right] W = 0, q \le m + 1.$$
(2.7)

Here $a_i = \left(\frac{\gamma+j-1}{q}\right), b_j = \left(\frac{\beta+j-1}{m}\right)$ and $A = \frac{q^q}{m^m}, B = \frac{1}{\Gamma(\beta)}.$ Equation (2.7), is the differential equation of Mittag-Leffler function

 $W_0 = E_{m,\beta}^{\gamma,q}(z)$, defined by [2]. **[D]** Put p = k = 1, q = 1 in (2.1), we have the differential equation.

$$[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az(\theta + a_1)]W = 0.$$
(2.8)

Here $a_1 = \gamma, b_j = \left(\frac{\beta+j-1}{m}\right)$ and $A = \frac{1}{m^m}, B = \frac{1}{\Gamma(\beta)}$. Equation (2.8) is the differential equation of Mittag L effort

Equation (2.8), is the differential equation of Mittag-Leffler function $W_0 = E^{\gamma}_{m,\beta}(z)$, defined by [12].

[E] Put p = k = 1, q = 1 and $\gamma = 1$ in (2.1), we have the differential equation.

$$[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az(\theta + a_1)]W = 0.$$
(2.9)

Here $a_1 = 1, b_j = \left(\frac{\beta+j-1}{m}\right)$ and $A = \frac{1}{m^m}, B = \frac{1}{\Gamma(\beta)}$. Equation (2.9), is the differential equation of Mittag-Leffler function $W_0 = E_{m,\beta}(z)$, defined by [3].

[F] Put $p = k = 1, q = 1, \gamma = 1$ and $\beta = 1$ in (2.1), we have the differential equation.

$$[\theta \prod_{j=1}^{m} (\theta + b_j - 1) - Az(\theta + a_1)]W = 0.$$
(2.10)

Here $a_1 = 1, b_j = (\frac{j}{m})$ and $A = \frac{1}{m^m}$, B = 1. Equation (2.10), is the differential equation of Mittag-Leffler function $W_0 = E_m(z)$, defined by [5].

Reference

[1] A. K.Shukla and J.C.Prajapati, On the recurrence relation of generalized Mittag-Leffler function, Surveys in Mathematics and its applications, volume 4 (2009) 133-138.

[2] A. K. Shukla and J.C. Prajapati. On the generalization of Mittag-Leffler function and its properties. Journal of Mathematical Analysis and Applications, 336 (2007) 797-811.

[3] A. Wiman. Uber den fundamental Satz in der Theories der Funktionen $E_{\alpha}(z)$, Acta Math. 29 (1905) 191-201.

[4] G.A. Dorrego and R.A. Cerutti. The K-Mittag-Leffler Function. Int. J.Contemp. Math. Sciences, Vol. 7 (2012) No. 15, 705-716.

[5] G. Mittag-Leffler. Sur la nouvellefonction $E_{\alpha}(z)$ C.RAcad. Sci. Paris 137(1903) 554-558.

[6] Kuldeep Singh Gehlot, Differential Equation of Generalized K-Mittag-Leffler Function, Int. J. Contemp. Math. Sciences, Vol. 8, 2013, no. 14, 693-698.

[7] Kuldeep Singh Gehlot, The Generalized K- Mittag-Leffler function. Int. J. Contemp. Math. Sciences, Vol. 7 (2012) No. 45, 2213-2219.

[8] Kuldeep Singh Gehlot, Two Parameter Gamma Function and it's Properties, arXiv:1701.01052v1[math.CA 3 Jan 2017.

[9] Kuldeep Singh Gehlot, The p-k Mittag-Liffler function, Palestine Journal of Mathematics, Vol. 7(2)(2018), 628–632.

[10] Kuldeep Singh Gehlot, Fractional Integral and Differentiation of p - k Mittag-Leffler Function, communicate for publication.

[11] Rafael Diaz and Eddy Pariguan. On hypergeometric functions and Pochhammer k-symbol. Divulgaciones Mathematicas, Vol. 15 No. 2 (2007) 179-192.

[12] T. R. Prabhakar. A singular integral equation with a generalized Mittag-Leffler function in the kernel. Yokohama Math. J. 19 (1971), 7-15.

Author information

Kuldeep Singh Gehlot, Government College Jodhpur, Jodhpur, Rajasthan-342304, India.

E-mail: drksgehlot@rediffmail.com

Received: January 4, 2018. Accepted: April 29, 2018.